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Question 1- 14.28% of 4200 + 42.84% of 2100 + 23.23% of 39600= ?

प्रश्न 1- 4200 का 14.28% + 2100 का 42.84% + 39600 का 23.23% = ?

A.10400

B. 10700

C. 10500

D.10100

E. None of these
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Question 2- 11.11% of 8100 + 23.23% of 9900 = ? 

प्रश्न 2- 8100 का 11.11% + 9900 का 23.23% = ?

A.2200

B. 1100

C. 3220

D.3200

E. None of these



A.557

B. 457

C. 227

D.667

E. None of these

Question 3- [(4/5 of 400 + 2/7 of 252) – (45 × 2 + 120 × 5/8)] = ?

प्रश्न 3- [(400 का 4/5 + 252 का 2/7) – (45 × 2 + 120 × 5/8)] = ?
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Question 4- 40% of 880 - 33.33% of 330 + ? = 100

प्रश्न 4- 880 का 40% - 330 का 33.33% + ? = 100

A.100

B. 132

C. -132

D.142

E. None of these
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A.160

B. 180

C. 262

D.300

E. None of these
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Question 5- What approximate value come in place of ?

प्रश्न 5- ? स्थान पर अनमुाननत मान आएगा?

24.92 + 4(6.18 ×9.97) – (17.92 ÷5.99) = ?
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A.300

B. 370

C. 130

D.330

E. 430

Question 6- What approximate value come in place of ?

प्रश्न 6- ? स्थान पर अनमुाननत मान आएगा?

249.99% of 6083.91 + (29.89% of 2249.94)÷ 4.95 = ?

√6083.91 का 249.99% + (2249.94 का 29.89%) ÷ 4.95 = ?

﷐﷐﷐



A.-1230

B. -1430

C. -1530

D.-1630

E. None of these
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Question 7- 962 + 4356 − 102 × 106= ?



A.1233

B. 2233

C. 2333

D.3433

E. None of these
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Question 8- 60% of 1775 + (34)2 + 448÷4 = ?

प्रश्न 8- 1775 का 60% + (34)2 + 448÷4 = ?
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A.1090

B. 2090

C. 3090

D.4090

E. None of these
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Question 9- 40% of 3545 + 43 × 37 +
1

3
of 243 = ?

प्रश्न 9- 3545 का 40% + 43×37 + 243का
1

3
= ?
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A.147

B. 547

C. 647

D.447

E. None of these

Question 10- 45 × 15 + 82 −?= 46 × 2
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A.197.22

B. 497.22

C. 434.22

D.397.22

E. None of these

Question 11- 333.33 + 33.33 +32 -1.44 = ?
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A.2911

B. 2951

C. 2917

D.2810

E. None of these

Question 12- [116]

1

2 + 111÷37 - 231÷7 + 3×2012÷4 = ?
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A.11590

B. 22190

C. 11570

D.23590

E. None of these

Question 13-
3
493039000 +

(3500+7000)÷35

5+5÷5
×216 = ?
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Question 14- 6
1

3
+ 2

3

4
+7

2

5
=? + 3

5

6

A. 12 
11

20

B. 11 
13

20

C. 12 
13

20

D. 7 
1

3
E. None of these
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A.127

B. 147

C. 157

D.257

E. None of these

Question 15- 2116 + 7744 + 
3
2197= ?
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A.154

B. 166

C. 254

D.354

E. None of these

Question 16-
4

21
of 441 + 8400× 2 ÷ 42 – 20% of 1500 + 175% of 40 = ?

प्रश्न 16- 441 का 
4

21
+ 8400 ×2÷42 – 1500 का 20% + 40 का 175% = ?
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A.150

B. 100

C. 75

D.25

E. None of these

What approximate value come in place of ?

? के स्थान पर अनमुाननत मान क्या आएगा?

Question 17- 31.88
1

5 × 80.99
1

4 × 5.132 =? ×2.04



https://t.me/mathbytarunsirmeplhttps://t.me/mathbytarunsirmeplhttps://t.me/mathbytarunsirmeplhttps://t.me/mathbytarunsirmepl

A.4413

B. 2213

C. 5513

D.6613

E. None of these

What approximate value come in place of ?

? के स्थान पर अनमुाननत मान क्या आएगा?

Question 18- 75 × 75 + 125% of 400 – 120% of 510 = ?

प्रश्न 18- 75 × 75 + 400 का 125% – 510 का 120% = ?
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